
N

e
a.

S
22

CO

B
M

02

E

S
D

B
C

S
g'

0

b

F

-0

2

5.

2.

4.

3.

1.

djoor

123 NE Beacon Dr.

Grants Pass, OR 97526

GLAZED WOOD DOOR W/ SIDELITES
INSWING / OUTSWING

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building Code
(FBC) structural requirements excluding the "High Velocity Hunicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

SHEET *

1

2

3

4

5

6

7

8

9

DESCRIPTION

TABLE OF CONTENTS

Typical elevation, design pressures & general notes
Door panel details

Sidelite panel details
Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck & frame anchoring - 2X buck masonry construction

Frame anchoring - 1 X buck masonry construction

Bill of materials, glazing detail & components

SERmS:

1501/1701
FULL UTE

I

LLI

l

1518/1706 TRUE

DIVIDED LITE

LU

>
0

R
K
Ch

1706

OVERALL

FRAME

DIMENSION

76.75" x 97.50"

76.75" x 97.50"

/

lll

0

76.75" MAX. OVERALL FRAME WIDTH

1518

TRUE DIVIDED LITE SHOWN

(1501 / 1701 FULL LITE ALSO APPROVED)

DOOR

:'D.L.0.:

DIMEN**N

27.00" x 81.38"

8.1 T' x 12.52"

11

0

0

S/DEL/TE

D.LOS

DIMENSION

13.25" x 81.38"

12.88" x 12.52"

GLASS

TYPE

G1

1706

1jl
j

1jl

0

DESIGN PRESSURE (PSF)

PosmVE NEGATIVE

+47.0

+47.0

-47.0

-47.0

a.

0/ k
00
00

g

§l

2 m K PE
22w d
5 BS .Ez
ptin g c
J 30...
@ > 19 @ 0

ON ·: d =
0

@8Za
5/ZES
g428.
m a. a. m J

'C t

84 2 8

5
lcD

0

d
Z

DATE: 10/25/12

SCALE: N.LS.
DWG. BY: AL

CHK. BY: LFS

DRAWING NO.

FL-13137.8

SHEET 1 oF 9

03

Z VE
CD 0
0Z
Lu
0U

Z Lu
0Z

0D

58
0£
CL

NV

C.

U)
Z

0

U)

Ct

E

12

5
-0

-1

0
Z

0
.1

m

3

N

0

0'1

0

Z

5
J

m

0



E
F

3
·tj
a}

5
62

N

rn

01

40

B
rl

i
to

S
8'

%
b

C)
iii
I

Z

NOTE 1 -

\ Gl

»4

36.00" MAX. OVERALL

PANEL WIDTH

..Ir=.='.=

m

X

4

4

/ 2 -3Ly)
I=-I

V

 DOOR PANEL1518 true divided lite

0

0

t:2

Z

EXTERIOR

4 *b

INTERIOR

j

@b /

0 7

2

3  SEENOTE 1

HOR/ZONTAL CROSS SECTION

r

a

36.00" MAX. OVERALL

PANEL WIDTH

3

2

® DOOR PANEL1501 fulllite

X

111

0

0

1

2

EXTERIOR

)«1 /
\,4

1-

3

SEE A 74
NOTE 1 -

INTERIOR

/h HORIZONTAL CROSS SECTION

k JJIE
1_

4.5"

4\1
® TOP RAIL

04

h

4- 1.75' -4

SEE

NOTE i 17

A
ri

3

/4 VERTICAL CROSS SEC77ON

18

INTERIOR EXTERIOR

G1

SEE

NOIE 1 17

INTERIOR

NOTE:

1. Staples located 1" . 3
from each end and

4" o.c. thereafter

h L
A B

T11 1- 0.375
1 « GLASS STOP

--- t- 0.5'

1-

SEE

NOTE 1 17

3 4- 6

-4 1.25' 1-

BOTTOM RAIL ® MUNTIN

3

ii

ii

EXTERIOR

/Th VERTICAL CROSS SECTION

§

34
m

i
C.

@
a-l

Q= e
00
00
00

30

§*
LU 

§%
000

2 V

Z

9 r 0&

, 8 m P : '
5%8 *N
J > 4 : 1

2 00 5.25*48 9 ·: & 2

:8@Bi,
3 .c cO V
50. 8
Va m B0

U- 'Ct

e< 28

0
Z

DATE: 10/25/12
SCALE: N.LS,

DWG. BY: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

5

5

C

Cl.

0
0

SHEET 2 OF 9

LU

4
0

i

W

£1-

E

0

3'

ti

N

0

N

Z

0

J

m

Z

Z

J

0

0



tj

2
fl

S
22

ry

m

0

S

0

S

B

8'

E

2

0

I.ri

g

Oj
Z

4

3

3

0

1/1

1!1

SEE 17
NOTE 1

G1

23

18.00' MAX. OVERALL

PANEL WIDTH

3

T

fE
g

iI}
Z

l

mv
>
0

22

INTERIOR

//Th HORIZONTAL CROSS SECTION

di

2

3

® Sit)EUTE PANEL1706 true divided lite 1701 full lite® SIt)EUTE PANEL

4

EXTERIOR

  5EENOTE 1

0

18.00" MAX. OVERALL

PANEL WIDTH

1

3

f
K3

LO

2.56" ..

(ipt STILE
- Sidelite

» 1.75-11 --1
E

4\1
 TOP RAIL

EZ
0.

SEE

NOTE 1 17 18

INTERIOR V 1- EXTERIOR

/\ VERTICAL CROSS SECTON

31
04

3 G
Il

ii

t
NOTE:

1. Staples located 1"
from each end and

6" o.c. thereafter

La
11 4- 0.375"

* GLASS STOP
il

4 7//

- 1.75" -4 -4 1.25' 4-

* BOTTOM RAIL  M UNTIN

SEE

NOTE 1 17

SEE

NOTE j 17

6

INTERIOR

3

3 -------
Il

Ii

EXTERIOR

/Th VERTICAL CROSS SECUON

C

&

0.

O XU

g

@

[C QI
00
00
0¤

30

S 2

0 0 .2 E

LL... w d
985*Z
p *C  0
J BIO .: -

5 810 2.§
0 N ·: U- £

0%20,5
Z 0

5 0. 8
m a.amB

* .1 {
e=© a

Cj
Z

DATE: 10/25/12
scALE N.LS.

DWG. BY: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

5

a.

@
01

SHEET 3 OF 9

5

4
,0
1,1

4 f

%j

5

it]

Z

0

[15

N

0

N

m

Z

0
1

[I]

0

Z

Z

J

9

Z

0

0



13
(P

F

5

B
0

e

e

3

0

B
0

S

m

S

NOTE:

1. Attach sidelite panel to the frame with
screws (#10 X 2-1/7' pfh) 2" from each
end and 9" o.c.

NOTE 1= *SEE
4

4

®

-  1-1/4"MIN.
EMB. (TYP.)

1

4
0

EXTERIOR

INTERIOR

 HORIZONTAL CROSS SEC11ONOutswing shown - inswing
also approved

4

3

6

.7

Ii

(ID

X

SEENOTE 1 

4

16

3 1
4

15

t1

V

4

4

10

11

ilillit''

8

 HORIZONTAL CROSS SECTIONOutswing shown - inswing
also approved

SEE

EXTERIOR NOTE 1 8 Ct i . .5

INTERIOR

EXTERIOR

INTERIOR

(I)/

1-1/4-MIN. 
EMB. (TYP.3 -

/\ HORIZONTAL CROSS SECTION
,.,/ Shown w/ 1 X sub-buck

4

4

6

4

64

12 SEE

19

8

 HORIZONTAL CROSS SECTIONOutswing shown - inswing
also approved

4

4

C

'8

CD

0-

Q=k
00
00
aa

LU@

§%

all

% 8M
p Z B
J 0© 0

3>4:0
ZO % 8
8 8 .: & 2

0.. f

tazE.
m-

9 .EE
592 8
ma-amB

ts CO

2 am
:,919
Crl' n

B g 4 *
C

Wdod
OZO .

0

cs
Z

DATE: 10/25/12
SCALE: N.LS.

DWG. mr: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

Z
0

5

8

SHEET 4 OF 9

SZ

g

U)

Z

0

05

ac

cr

N

0

Cl

U2

Z

0

0

(9

Z

0
-1

3

CI]



13
a)

2

5
22

§

F

3

Ln

fl

0

B
S

to

B

S
8'

t>

t>

6

Z 0-
=¤

I# 22
-LU

C--

r jf>
INTERIOR

INTERIOR

7'

 VERTICAL CROSS SECTIONOutswing shown - inswing
also approved

EXTERIOR

1

t/(f)

D

EXTERIOR

2o
=a

- UJ

E 1
P

1

O 9 p V V

/Th VERTICAL CROSS SECT/ON
«,/ Inswing threshold

1

Zu

= n

kj
Z8

Z u

kd

1

<*>-- «Lltm jimv

INTERIOR

EXTERIOR

/\ VERTICAL CROSS SECTION
(5-) Shown w/ 1 X sub-buck

INTERIOR

CS>--- 5*3

9

4

g

1. 9

/h VERUCAL CROSS SECT,ON
 Outswing threshold

EXTERIOR

E

g E

B

8
0

a.

O=k
00
00

LUB

g Ch:CD
g

@

@ 2
.R :$
0,9 4
i , 2.

2 S E W 4
@st :IN
Z 0 0 P 'C LA
8 A .: a f

0. f#

5 mi P 't."1
2-:800v
2211 All

Ct

e< 28

5

d
Z

DATE: 10/25/12
SCALE; N.LS.

DWG. BY: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

SHEET 5 OF 9

Z

8
LU
0)

{/)
0
CE

0

Cr

%

m

Z

0

U)

0£

]

-1

0

Z

3

in

Z

8

Z

9

CD

OK

N

0

N



2

12

1L

5
6?

0'

-0

0

rn

./

§

*2
= n

kj
I 8

h, '
6

p It. .

8

INTERIOR

 VERT/CAL CROSS SECTIONOutswing shown - inswing
also approved

4 J

t/(i)

D

SEE

8 NOTE 1

7

EXTERIOR

1

Z u

1

V

NOTE:

1. Attach sidelite panel to the frame with
screws (#10 X 2-1/2" pfh) 7' from each

end and 9" o.c.

INTERIOR

'll/7*il
EXTERIOR

8 SEE
NOTE 1

4411\1 i U //. < <k1/7/1141
V V

V. b

V i V
77

v Pi -

 VERTICAL CROSS SECT/ONOutswing shown - inswing
also approved

Z L

k5
I 13

F

/4

INTERIOR

SEE

8 NOTE 1

7

EXTERIOR

/h VERTICAL CROSS SECTION
Lf) Shown w/ 1 X sub-buck

E

al

Ock
00
00
00

5 x 0

al

gR
T2

8 2 '0 E .5
0 N ·: t. 42

*11:2
42 8
man- m-8

U)

!2

5

0'0'
C

W .

CS
Z

DATE: 10/25/12
SCALE: N.LS.

DWG. BY: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

SHEET 6 OF 9

-1

Z

8

0
Cks
0

Wc,

49
Nd
' Z

V c

5

Z

0

as

0/

N

0

N

0

Z

3

Ln

Z

8
0

Z

9
J

{D



A

ro

S

S
/0

8
C

&

.'4

e

3

&

S

MASONRY-1

OPENING

2X BUCK -

9

-

-

-

.

8,

H' i i

 TYP. HEAD

Ill
111

& JAMB

1I1

.

9

4

Ill-
SHOWN FOR

MULLIONS

11 REF.ONLY

BUCK ANCHORING

4" -1 Ill
to

- -IT
1 1 I  1 1

11

1I

-

20

h

EM

. 1-1

-42. IIIT

HINGE JAMB

R
za

MASONRY

OPENING

3"

4

'

FRAME -

2X BUCK-

CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete screws from a different supplier may have different edge distance and center distance
requirements.

2. Concrete screw locations at the corners may be adjusted to maintain the minimum edge distance to mortarjoints. /f
concrete screw locations noted as "MAX. ON CENTER" must be adjusted to maintain the minimum edge distance to morfar
joints, additional concrete screws may be required to ensure the maximum on center dimension is not exceeded.

3. Concrete anchor table:

ANCHOR

1YPE

ITW

ELCO

ANCHOR

5/ZE

1/4'

1/4"

MINIMUM

EMBEDMENT

1-1/4"

1-1/4"

MINIMUM CLEARANCE

TO MASONRY EDGE

2-1/2"

1"

8' MAX.

ON CENTER

r -1

M/N/MUM CLEARANCE TO

ADJACENT ANCHOR

\

4"

-T

--1 T

.0

lili

TYP. HEAD

&JAMB
8

1 TYP. SILL

20 Z

0

2.--1 13-
r 1 7---

EN

J C _[ i LJ L
--

-4 8,1-
FRAME ANCHORING

Masonry 2X buck construction

B
«f®

(jjf
il

HINGE DETAIL

-T

-4
aL

7 E

-0

13

19\

1

1

I V

1

38

12

@.

STRIKE JAMB

LATCH & DEADBOLT DETAIL

0

(1

ase
00
00
00

5 <e

0 0 C c»

.0 39( 1
d A *

i i M it. 3
3 -5 © :.2 1 0-

i S 2 { iH i
O N ·: 0 59 -c

3 ]11

DATE: 10/25/12
SCALE: N.LS.

DwG. By: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

SHEET 7 OF 9

g

0
Z

XZ
C\10

5: ID

SE
Z.
OZ
Z0
<0

Lu>-

3%
020

8%
hc
00
3D
Inal

Z

Q

QC

cr

N

0

0

U

Z

Z

3

U]

Z

8

Z

9
3

m



CO

'1

0

5

B
ro

S
CD

S

8'

·5

:i
LL

tj

F

S
i:i

. 1-1

HINGE JAMB

R

MASONRY

OPENING

FRAME --

4

4 .

j

1 X BUCKn

\.V'V

<Z

9 8

4

r 7

k

8" MAX.

 -L ON CENTER

111

F TYP. HEAD
& JAMB

1 TYP. SILL

30 Z
0-

1 r 1 1
hI

J L3 C J I L

-j-1, S 4,
FRAME ANCHORING

Masonry 1 X buck construction

C.

Xy
<Z

38
Dz

0

CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete screws from a different supplier may have different edge distance and center distance
requirements.

2. Concrete screw locations at the corners may be adjusted to maintain the minimum edge distance to mortarjoints. If
concrete screw /oca#ons noted as "MAX. ON CENTER" must be adjusted to maintain the minimum edge distance to mortar
Joints, additional concrete screws may be required to ensure the maximum on center dimension is not exceeded.

3. Concrete anchor tab/e:

ANCHOR

TYPE

ITW

ELCO

ANCHOR

SIZE

1/4"

1/4'

M/N/MUM

EMBEDMENT

1-1/4"

1-1/4"

MINIMUM CLEARANCE

TOMASONRY EDGE

2-1/2"

1"

M/N/MUM CLEARANCE TO

ADJACENT ANCHOR

3"

4"

a

:20

@.

ke=-

STRIKE JAMB

14

11

(js
il

HINGE DETAIL

1l

LATCH & DEADBOLT DETAIL

i

@
a-1

256
58°0

& O N ··

CC Of

00
0O
0 0

41@

§%
0/ D

0

Bz

m a.a- m.g

U--* ·C t

6% 2 8

@

5

0
Z

DATE: 10/25/12
SCALE: N.LS.

DWG. BY: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

SHEET 8 oF 9

CD -

ME
C.DE

Q=0
00

0>-
Z k
<Z

1.U

W

0

CIO

W

El.

E

Z
0

L/)

5

g

N

0

0

Z

5
J

[1)

0

Z

0

m



13

F
CL

S
6i

cn

le

g'

&

0

...

2

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

ITEM

A

B

C

D

E

F

BILL OF MATERIALS

DESCR/PTION

1 X BUCK

2X BUCK (SG >= 0.55)
1/4" MAX. SHIM SPACE

1/4' X 2-3/4' ELCO OR ITW CONCRETE SCREW

MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

1/4' X 3-3/4" ELCO OR ITW CONCRETE SCREW
1/4' X 2-1/4" ELCO OR ITW CONCRETE SCREW

DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR DETAILS

STILE (PINE SG >= 0.35)
GLASS STOP (PINE SG >= 0.35)
TOP RAIL (PINE SG >= 0.35)
8O1TOM RAIL (PINE SG >= 0.35)
DOWEL

JAMB (PINE SG >= 0.35)
#10 X 2-1/2' PFH WOOD SCREW

WEATHERSTRIP

HINGE

#10 X 1" PFH WOOD SCREW

#10 X 2" PFH WOOD SCREW

LATCH STRIKE PLATE

SECURITY STRIKE PLATE

KWIKSET SERIES LOCKSET {400)

KWIKSET SERIES DEADBOLT (660)
22ga. X 3/16- CROWN X 5/8" LONG STAPLE
MUNTIN (PINE SG >= 0.35)
THRESHOLD (INSWING)
THRESHOLD (OUTSWING)
DOOR SWEEP

SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR DETAILS

STILE (PINE SG >= 0.35)

MATERIAL

WOOD

WOOD

STEEL

CONCRETE

STEEL

STEEL

WOOD

WOOD

WOOD

WOOD

WOOD

WOOD

STEEL

FOAM

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

STEEL

WOOD

ALUM.

ALUM.

VINYL

WOOD

4.56"

_LI

.r

L

t
* HEAD & SIDEJannb

4.62" ..

2.4"

Ely=5
 THRESHOLDOutswing

7.81" -

fil@__

- THRESHOLD
120 1
- Irm*,g

0.344'

GLASS BITE
.-M

17

/*\ GLAZING DETAIL

1/8" TEMPERED GLASS

M.20 Ec
J > 4 9 1

rN

§§1£3
O

v  az .4
Dam-

·0 r

E hkS CO

8
0

Q:ac
00
00
00

LAJ 

5 Ck:0
g

@

g

bl

C
e NR
g 0 . 4
.E= 0 7

W. 0
Z

1*j

d
Z

DATE: 10/25/12
scALE: N.T. S.

DWG.BY: AL

CHK. BY: LFS

DRAWING NO.:

FL-13137.8

\4

SHEET 9 OF 9

3 Z

52
NO
W0
<*1

30

W

ti

Z

0

U)

CE

E

C

0:

N

0

N

0

0

Z

Ul

Z

8
[9

Z

0
-1

J

1


